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Partial credit—You must show all your work.
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L (10 %) Let A= (2 —1 4|. Find a basis for the row space of A.
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2. (15%)Let A= | I 3 -15|. FFind A~
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3. (15 %) Use the Gram-Schimidt process Lo generate an orthogonal set {u;, uy, ug, }
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rom the given linearly independent vectors v = 1v2=|gl> V=1,
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4. Let A= |0 2 -1
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(a) (15 %) Find an invertible matrix S such that S AS is diagonal.

(b) (56 %) Calculate AS.

5. T : Py — Py is defined by 7'(p) = p’(0), where P is the set of all polynomials
of degree at most 3 with basis B = {1, z, 2%, 2} and £ is the set of all polynomials
of degree at most 2 with basis C' = {1, z, 2?23, 21}

(a) (10 %) Show that T is a linear transformation.

(b) (10 %) Find the matrix for 7" with respect to B and C.
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6. %Lt A= |3 2 TP Pind dew(a).
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